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POINTS TO PONDER

1. The xna suggests that if he knew that the basket contains niw nia, he would have said that
the black and white figs are n10x while the niw nina are "'nim. Why would he specify black
and white? The point of niw nina is that they are a different breed which grows every 2-3
years and not every year.

2. The mwn gives several examples of a person not coming on time, due to external
circumstances. Why isn’t one or two examples sufficient?

3. The xna says that if the 7111 experienced a oaix we should apply the rule of xannn 0ax”
~n1uo. When it comes to pmn we know that 0721y Tvin nTX even 011xa, so why is this not
treated in the same way?

4. Further to the above, since the reason for n'011X ' 11 is because his intent doesn’t include an
unforeseen 01X, how does the 72109 by 011x support the n>7n by " 11?

5. The xna brings a proof from o that oaix is not only a 11vo by nnm. Since the case of
XNIIDT is a case of in how can we bring a proof from nT.
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If you have any comments or suggestions, please email Rabbi Grunhaus at Ygrunhaus@gmail.com
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